
A - 51

AIREND COMPLETE

22442701_029_04/04_A

ITEM COMM. NO. DESCRIPTION QTY DIMENSIONS/NOTES

A 22317697 SPACER, DRIVE COUPLING 1
B 22314348 COUPLING 1
C 54755111 BUSHING, HEX 1
D 95376943 SCREW, SOCKET SET 3/8-16 X .25 1
E 36880995 SCREW, HEX FLANGE M10-1.50 X 30 8
F 96708201 SCREW, SOCKET HEAD M10-1.50 X 80 8
G 96721105 KEY, COUPLING 8 X 12 X 70 1
H 54390950 ADAPTER, AIREND 1
J 96704309 SCREW, HEX M10-1.50 X 35 12
K 95044772 O-RING 1
L 39317599 SEAL, DOUBLE ELEMENT 1
M 39317581 SEAL, SINGLE ELEMENT 1
N 54390943 AIREND, CF90 1


